Quick Review

You can add intégers by modelling with tiles.
o Add: (-2) + ()

| -.Zﬁ ' _ | Thereare 6| - |tiles.
4 _ v [=] [=] | Theymodel-s.

S0, (=2) + (—4) = -6

o Add: (+3) + (—4)
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Circle the zero pairs. Count the tiles that are left.

There are 3 zero pairs.

There is 1 | — | tile left.

: It models -1.
So, (+3) + (-4) =-1 K

1. Use tiles rr'épreseﬁting +1 and tiles represeﬁﬁng ~1to add (+4) + (=6).
Circle zero pairs. |

What tilés: are left? .

So, (+4) +(—6) =
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It went up 3 levels. arise in the elevator
' position by a positive
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o Amme eiévaior .ﬁhé,ét:31evel -5 (5 levels below ground).

Use iﬂeS'to add (-5) + (+3).
Circle zero pairs.

What tiles are left?

(-5)+(+3) =

What sum does each set of tiles model?
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Draw tiles to represent each bsum. Complete the addition equation.
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What level is it at now? infeger or a negartive
' infeger?



